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9.80665 [m/s?]

@ p Aq=1000.0[kg/m3]
P Alc
©)
T 273.15 [K] = 760 [mmHg] p *
1.2932 [kg/m3] T [K] [mmHg] P air
[kg/m3]
p./p. _RT.
p/pajr RT
o po =p P [kgm3] 16
T p.
Sutherland T 273.15[K]
M= 1.724x 105 [Pa s] S1 1104 [K] T [K]
M air [Pa s]
3
_, St [T [Pas 17
ﬂm., _ﬂ*sﬂ[n] [Pa s]
Vajr ::uajr/pair [m2/s]
Lo Lo 0.09[m]
Uo
Re
Re:U"L0
Vajr
15[cm] 15[cm]
12 O[cm] -16 [cm] 16 [cm] 2 [cm]
hAq
©)
V= 2/0AqghAq 18
\ Pair
Uo
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0
P—P = pAlcghAlc
0
P— Py
C,= 1 U
2pair 0
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No.40
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I0cm
¥y
No.1 No0.43
20
No.41 No.43
Alc
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19
20




T=272 |=300.15[K] p=766.9[mmHg]=0.1022[MPa]

1000[kg/ms3] 804.2[kg/m3]
(16)
(16)= p.. =p. Tp_ 1.293px 21315, 7669 _ ) 146 [kg/m3]
T p. 300.15 760
(17) Sutherland
3 3
A7 , =, ST [TJZ 17245105 1104+273.15 X(300.15)2 _1857.10° [Pa s]
S+TT 110.4+300.15 | 273.15
-5
vy = Har (IEDA0 g ga5,105 [mas]
Pair 1.186
o 0.09 [m] o 28.2[m/s]
Re=Jobo _ 282x009 _, 65 155
Ve  1.565x10
Aqg
C)
[cm] |haq [MMAQ] u [m/s] u/U, [cm] paq [MMAG] u [m/s] u/U,
16 48.0 28.2 1.00 16 40.7 25.9 0.921
14 42.0 26.3 0.935 14 41.5 26.2 0.930
12 39.9 25.7 0.912 12 45.2 27.3 0.970
10 36.7 24.6 0.874 10 45.2 27.3 0.970
8 354 24.2 0.859 8 40.5 25.9 0.919
6 355 24.2 0.860 6 24.3 20.0 0.712
4 354 24.2 0.859 4 17.2 16.9 0.599
2 35.2 241 0.856 2 11.2 13.6 0.483
0 36.5 24.6 0.872 0 134 14.9 0.528
-2 37.8 25.0 0.887 -2 16.1 16.3 0.579
-4 39.0 254 0.901 -4 23.1 19.5 0.694
-6 416 26.2 0.931 -6 304 224 0.796
-8 434 26.8 0.951 -8 39.3 25.5 0.905
-10 46.2 27.6 0.981 -10 42.8 26.6 0.944
-12 46.4 27.7 0.983 -12 43.0 26.7 0.946
-14 420 26.3 0.935 -14 40.6 25.9 0.920
-16 32.8 23.3 0.827 -16 38.3 25.2 0.893
25.6 0.907
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13

(19)

14

14

13

43

14

No. x [mm] | x [mm]] hae [mm]]p-po [Pa]]  C,
1 15 20 -17.65 | -139.2 | -0.2957
2 25 10 -19.85 | -1565 | -0.3326
3 35 10 -2275 | -179.4 | -0.3812
4 45 10 -1895 | -1494 | -0.3175
5 55 10 -1650 | -130.1 | -0.2764
6 65 10 -1355 | -106.9 | -0.2270
7 75 10 -5.70 -450 | -0.0955
8 85 10 -1.30 -10.3 | -0.0218

13



No. x [mm] [ x [mm]{hac [Mm]|p-po [Pa]] C,

9 95 10 3.20 25.2 0.0536
10 105 10 11.95 | 94.24 | 0.2002
11 115 10 10.40 82.02 0.1742
12 125 10 1.70 134 | 0.0285
13 135 10 -9.05 -71.4 -0.1516
14 145 10 -52.40 -413.3 -0.8779
No. x[mm] | x[mm]|hac [Mm]|p-po [Pa]] G,

15 155 10 -80.85 | -637.6 | -1.355
16 165 10 -54.15 -427.1 -0.9072
17 175 10 -42.75 | -337.1 | -0.7162
18 185 10 -4055 | -319.8 | -0.6794
19 195 10 -7.15 -56.4 -0.120
20 205 10 -42.45 | -334.8 [ -0.7112
21 215 10 -2.80 -22.1 | -0.0469
No. x [mm] | x [mm]{|hae [Mm]|p-po [Pa]]  C,

22 225 10 —63.10 | -497.6 | -1057
23 235 10 -10.05 | -79.26 | -0.1684
24 245 10 -30.40 | -239.7 | -0.5093
25 255 10 -23.30 | -183.8 | -0.3904
26 265 10 -1760 | -138.8 | -0.2949
27 275 10 -1350 | -106.5 | -0.2262
28 285 10 -1055 | -83.20 | -0.1768
29 295 10 -8.20 -64.7 | -0.137
30 305 10 -5.85 -46.1 | -0.0980
31 315 10 -4.20 -33.1 | -0.0704
32 325 20 -2.70 -21.3 | -0.0452
No. y [mm] |y [mm]|hae [Mm]{p-po [Pa]]  C,

33 35 10 -0.35 -2.8 | -0.0059
34 25 10 -0.75 -5.9 -0.013
35 15 20 -0.30 -2.4 | -0.0050
No. x [mm] | x [mm]| hae [Mm]| p-po [Pa]]  C,

36 305 65 3.05 24.1 0.0511
37 245 60 -4.00 -31.5 | -0.0670
38 185 65 -21.30 | -168.0 | -0.3569
39 115 70 -32.40 | -2555 | -0.5428
40 45 80 -36.60 | -288.6 | -0.6132
No. y [mm] | y[mm]]hac [nm]{p-po [Pa]] C,

41 15 20 78.05 615.5 1.308
42 25 10 81.55 643.1 1.366
43 35 10 80.25 632.9 1.345
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0 15

u(y)=U, - u-exp| —0.69 y—m]
o]

1, Y2 (yl > y2) u=(Uo wu) 1/2
m:(Y1+y2)/2 bj/zz(Y1_y2)/2 b1/2
p.12 u 10

10 u
[cm] | u[m/s] |Up-u [m/s]
16 25.9 2.23

14 26.2 1.98

12 27.3 0.834

10 27.3 0.834

8 25.9 2.29

6 20.0 8.13

4 16.9 11.3

2 13.6 14.6

0 14.9 13.3

-2 16.3 11.9

-4 19.5 8.63

-6 224 5.75

-8 25.5 2.68
-10 26.6 1.57
-12 26.7 151
-14 25.9 2.26
-16 25.2 3.01

u=14.6 [m/s]
_u_146_ a5 [mis]

2 2
1 625y, <8[ m] y2 -62Zy,<-4 [cm]

y, =6+ ZXM=G.29 [cm]
2.29-813
y, = -4+ 2x 7.30-863_ o, [cm]
8.63-5.75
me YitYs _ 6.29-4.94 0677 [cm]
2 2
y,—Y, 629+494
by, == 5 2 = =5.61 [cm]

15

21



(21)

(22) u 11
11
[cm] | u[m/s] u/U, u [m/s] u/U,
16 25.9 0.921 28.09 1.00
14 26.2 0.930 27.88 0.99
12 27.3 0.970 27.32 0.97
10 27.3 0.970 26.04 0.92
8 25.9 0.919 23.72 0.84
6 20.0 0.712 20.37 0.72
4 16.9 0.599 16.74 0.59
2 13.6 0.483 14.12 0.50
0 14.9 0.528 13.72 0.49
-2 16.3 0.579 15.71 0.56
-4 195 0.694 19.17 0.68
-6 22.4 0.796 22.73 0.81
-8 25.5 0.905 25.41 0.90
-10 26.6 0.944 27.00 0.96
-12 26.7 0.946 27.75 0.99
-14 25.9 0.920 28.05 1.00
-16 25.2 0.893 28.14 1.00
u 15
16 — —*
| g
12 —H
8 ||
4+
5 of
-4
-8
-12
-16
0.00 0.20 0.40 0.60 0.80 1.00
/ o

15

16
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16 [cm] 11 [cm]
°
°
o
°
15 O[cm]
y<-10, 10<y
16 1
16-2
.00
Cp

16-1
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D :I(p— p,)siné-ds

GA

No0.19
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CD CL

= tan 6] (p- po)ix+tan 0, (- pyJax—tan 6, (p— py)ax— [ (= py)dly+ | (P~ py)dly

:tané’lzgl(p—po)i >g+tan02i(p—po)i )ﬁ_tanasi(p_po)i )Q_i(p_po)i yi"'Z(p_po)i

i=1

L

L=I(p— P, )cosé-ds

i=9

=22

=~ ["(p~po)ax— [ (p~ py)ax— [ (P~ po)ax— [ (p~ pyJaix+ [ (P~ p,Jaix

8

14

21

32

:_Z(p_po)i Xi_Z(p_pO)i Xi_Z(p_pO)i Xi_Z(p—po)i Xi+io:(p_p0)i X

i=1

i=15

i=22

i=36

12 18
12 A B
No. | x[mm] | x[mm]|(P-Po)i [Pa]] X(pP-po)i [Pa mm
1 15 20 -139.2 -2784
2 25 10 -156.5 -1565
3 35 10 -179.4 -1794
4 45 10 -149.4 -1494
5 55 10 -130.1 -1301
6 65 10 -106.9 -1069
7 75 10 -45.0 -450
8 85 10 -10.3 -103
> i(P-Po)i  Xi= -10600
tanB 13 (p-po)  X= -1770

18

Yi



13 B C
No. X [mm] x [mm]|(p-po)i [Pa]] X(p-po)i [Pa mm]
9 95 10 25.2 252
10 105 10 94.24 942.4
11 115 10 82.02 820.2
12 125 10 13.4 134
13 135 10 -71.4 -714
14 145 10 -413.3 -4133
Y i(P-po)i Xi= -2700
tand ,> (p-po)i X~ -1580
14 C D
No. x [mm] | x [mm]|(p-po)i [Pa]| x(p-po) [Pa mm]
15 155 10 -637.6 -6376
16 165 10 -427.1 -4271
17 175 10 -337.1 -3371
18 185 10 -310.8 -3198
19 195 10 -327.3 -3273
20 205 10 -334.8 -3348
21 215 10 -416.2 -4162
> i(P-po)  X= -28000
15 D E
No. x [mm] | x [mm]{ (P-po)i [Pal| X(p-po)i [Pa mm]
22 225 10 -497.6 -4976
23 235 10 -368.7 -3687
24 245 10 -239.7 -2397
25 255 10 -183.8 -1838
26 265 10 -138.8 -1388
27 275 10 -106.5 -1065
28 285 10 -83.2 -832
29 295 10 -64.7 -647
30 305 10 -46.1 -461
31 315 10 -33.1 -331
32 325 20 -21.3 -426
2 i(P-Po)i %= -18000
tand 3> i(p-po)i X= -7500
16 E F
No. y [mm] [ y [mm]|(p-po)i [Pa]l Yy(p-po)i [Pa mm
33 35 10 -2.8 -28
34 25 10 -5.9 -59
35 15 20 -2.4 -48
2 i(P-po)i Y~ -140
17 F G
No. X [mm] X [mm]{(p-Po)i [Paﬂ X(p-po)i [Pa mm]
36 305 65 24.1 1570
37 245 60 -315 -1890
38 185 65 -168.0 -10920
39 115 70 -255.5 -17890
40 45 80 -288.6 -23090
> i(P-Po)i X= -52200

19



18 G A

No. y [mm] |y [mm]{(p-po)i [Pal] y(p-po)i [Pa mm]
41 15 20 615.5 12310
42 25 10 643.1 6431
43 35 10 632.9 6329
Y i(P-Po)i %= 25070
19 21 23
12 18

8 14
thanelz(p_ po)i Xi+tm922(p_ pO)i
i=1 i=9

=-1770-1580+ 7500+ 140+ 25070

i=22

20

2
X —tanﬁsz(p— po)i X —

35

Z(p_ pO)i

i=33

40

=36

DE

Yi +§:(p_ pO)i Yi

i=41

=29400 [mN]
=294  [N]
8 14 21 32
L=—Z(p— pO)i X _Z(p_ pO)i X _Z(p_ pO)i X; _Z(p_ pO)i X +Z(p_ pO)i X
i=1 i=9 i=15 i=22
=10600+ 2700+ 28000 +18000 - 52200
=7100 [mN]
=710 [N]
Co
Cp = D = 29.4 i =0.693
1 Uz 05x1.186x28.2%x0.09
E,Dajr 0o
CL
C = = = 710 : =0.167
1 2 0.5x1.186x 28.2% x 0.09
SPaUo Lo
Cp=0.3 0.5
GA



FG
FG

Cp=0.693 CL=0.167 St X 1.2[m]x 1.5[m]
1.8[m?] Sp x 1.5[m]x 4.0lm] 6.0[m?2]
100[km/s] 27.8[m/s] p 1.186

D=C -lp.UZS =0.693x0.5x1.186x 27.8° x1.8 =572 [N]
D 2 air f

P=D-U =572x27.8=15.9x10° W] =15.9[kW]
L=C, ~%paer 2S, = 0.167x 0.5x 1.186x 27.82 x 6.0 = 459 [N]
100

(15)
b’ b’
D= L p-ulU, —u)dy = pjb (UOU—UZ)dy

22

[y > X (fo + 41,420, + 41, 442

n—.

D
16 16
D= paer O_.:lGUdy_ Pair Jlleuzdy
=1.186- 28.2-0'—;)2~1080—1.186-0'—§2~25300
~ 401 [N]

19
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19

[cm] | u[m/s] |u? [m?/s?] a o u[m/s]la u? [m?/s?]
16 25.9 673 1 25.9 673
14 26.2 686 4 105 2740
12 27.3 747 2 54.7 1490
10 27.3 747 4 109 2990
8 25.9 670 2 51.8 1340
6 20.0 402 4 80.2 1610
4 16.9 284 2 33.7 569
2 13.6 185 4 54.4 741
0 14.9 222 2 29.8 443
-2 16.3 266 4 65.3 1060
-4 19.5 382 2 39.1 764
-6 22.4 503 4 89.7 2010
-8 25.5 650 2 51.0 1300
-10 26.6 708 4 106 2830
-12 26.7 711 2 53.3 1420
-14 25.9 671 4 104 2680
-16 25.2 633 1 25.2 633
1080 25300
c- b _ 401 _ oo
1 2 0.5x1.186x% 28.2° x 0.09
Epajruo L,
(21)
2
21) &  u=U, —14.6exp{— 0.698(y_0'677j }
5.67
(15)

D_[pu —u)dy

pa|r —146eX 069 y 0677 146ex 069 y 0677 d
5.67
o J~16 14,60, exp|—0.69 y— 0.677)° _14.62 expl —1.39 y— 0.677 d
o 5.67 5.67

<

y
15 (21) y<-10, 10<y u=1
y—0.677 2 y-0.677
D=146p,,U 0.69 dy —14.6 1.39
o] onf-osa ST -sasn [ enf 13 7 o
y-m_, ﬂ=b=5.67x10-2 [m]
by, dt

22



D =146x567x102p, U, [~ (expl-0.698t? Jhit -14.6?x5.67x102 p,,, [~ p{ 1396(y OG??]}

567
_ 27.66x.|—"— —1457x |-~
0.698 1.396

=36.8 [N]
C, = D = 36.8 5 =0.867
1 2 0.5%x1.186x% 28.2° x 0.09
—ParYo Ly
2
°
C,=0944
C, =0.867
° C, =0.693
15
y<-12, 12<y
1980 p.176 183 p.196 202
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10 J:!!. iim |_ i i " |
17 18 .
Re=1.62x 105
L=1.2[m]
5 5
_ Rev _ 1.62x10° x1.565x10 _ 211 [mis] =7.61 [km/h]
d 1.2
7.6 Co 2
Co
Co
A)
B)
C)
D)
(A) U=100[m/s]
5
U=50[m/s]
(B) 11
1/1
300

10
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(€ (D) 20

- 100 - 200[ ]
20
ax| =2 | o nom B
[K)| Chgem*) | (Pass] | (m? =351
|

= jg-t El =
100 3 5085 T.0E0 1.962
150 23673 1038 4.385
200 1. 765D 1336 7.562
280 1.4119 16,08 11,37
ohi3 13421 167 12.44
213 1.29%0 1720 13,30
283 1.2473 1769 14.18
283 12047 180T 15.08
00| 11786 18,53 15,75

19(a)

19(b)
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